BfEE

ATVLA
o N — o ~ »
ﬂ-lj SIWATUYYT
—_—
== ¢ 100 125
QEfi] -BF & (BUAHR) -EafEAG
I .
B L = e -
W= FELA®
. §
NPT-125SUE-2 @@
Z 0t
HERKERO LR A—ITT,
- I -
1T | 4 | & | & &\ a|l ¥ | ¥ | Y
& & B W Hin H | BftE Bl EvF- i R popv) "o HEEFE HAERE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kgf) ]
NPT-100SUE-1,M12X 35 M12 1.75 35 21
169[~144] 35[~59] 85[~110] 10(10.2)
NPT-100SUE-1,M16 X 40 M16 2 40 23
NPT-100SUE-2,M12X 35 M12 1.75 35 21
169[~151] 35[~54] 85[~105] 20(20.4)
NPT-100SUE-2,M16 X 40 M16 2 40 23
NPT-100SUE-3,M12x 35 M12 1.75 35 21
169[~154] 35[~51] 85[~102] 30(30.6)
NPT-100SUE-3,M16 X 40 M16 2 40 23
100 28
* NPT-100SUES-1,M12% 35 M12 1.75 35 21
169[~144] 35[~59] 111[~110] 10(10.2)
* NPT-100SUES-1,M16 X 40 M16 2 40 23
* NPT-100SUES-2,M12x 35 M12 1.75 35 21
169[~151] 35[~54] 111[~105] 20(20.4)
* NPT-100SUES-2,M16 X 40 M16 2 40 23
* NPT-100SUES-3,M12x 35 M12 1.75 35 21
169[~154] 35[~51] 111[~102] 30(30.6)
* NPT-100SUES-3,M16 x40 M16 2 40 23 )
NPT-125SUE-1,M12x 35 M12 1.75 35 21 Eé
- 190[~163] 42[~68] 105[~131] 10(10.2) =
NPT-125SUE-1,M16 X 40 M16 2 40 23 H%
NPT-125SUE-2,M12X 35 M12 1.75 35 21 %%
190[~170] 42[~63] 105[~126] 20(20.4) 2
NPT-125SUE-2,M16 X 40 M16 2 40 23 1‘]
<
NPT-125SUE-3,M12x 35 M12 1.75 35 21
190[~174] 42[~59] 105[~123] 30(30.6)
NPT-125SUE-3,M16 X 40 M16 2 40 23
125 32
* NPT-125SUES-1,M12% 35 M12 1.75 35 21 117[~131]
190[~163] 68[~68] 10(10.2)
* NPT-125SUES-1,M16 x40 M16 2 40 23 131[~131]
* NPT-125SUES-2,M12x 35 M12 1.75 35 21
190[~170] 68[~63] 131[~126] 20(20.4)
* NPT-125SUES-2,M16 X 40 M16 2 40 23
* NPT-125SUES-3,M12X 35 M12 1.75 35 21
HALFAO 190[~174] 68[~59] 131[~123] 30(30.6)
% NPT-125SUES-3,M16X40 | # #&:#&itos 6l M16 2 40 23

[ JHOBEEFEEREROM  *[ZXby/N—1f1]

CHFATE  21-I12/5(19mm/21mm)

215





